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4 Geef van de volgende aspecten aan of deze door de recensent als een
zwak punt van de film ‘Annihilation’ genoemd worden.
Noteer ‘wel’ of ‘niet’ achter elk nummer op het antwoordblad.
1 de acteerprestaties
2 de technische kwaliteit
3 het gebruik van terugblikken
4 het trage tempo

Tekst 4 Can language of the Vikings survive English onslaught

‘Not so many years ago, such a billboard would simply have read: “Kaffi
og kleina™ (alinea 1)

5 Welk jaar is volgens de schrijver aan te wijzen als het beginpunt voor een
verandering in het taalgebruik?
Noteer dit jaartal.

6 What do paragraphs 2 and 3 make clear about the Icelandic language?
A It failed to adapt to modern times when it came under threat.
B It has been replaced by English for the sake of the banking industry.
Cc Itis only used by a select group of intellectuals and historians.
D It was secure for a long time but its future is now at stake.

7 How does paragraph 4 relate to paragraph 3?
A It contains criticism on the point made in paragraph 3.
B It describes the effects of the point made in paragraph 3.
C It puts the point made in paragraph 3 in a global perspective.

8 Which sentence fits the gap in paragraph 57?
A But all is not completely lost yet
B Changes are preceded by chaos
C There are other warning signs
D This can have major advantages

9  Which of the following fits the gap in paragraph 67?
A confusing
B damaging
c futile
D inevitable
E unlikely

10 What is the function of paragraph 77?
A to describe initiatives that are meant to stimulate the use of Icelandic
B to explain why it is necessary to stimulate the use of Icelandic
C to justify the use of public money to stimulate the use of Icelandic
D to stress that plans to stimulate the use of Icelandic are effective
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Which sentence fits the gap in paragraph 8?
A Clearly, it is not enough to turn the tide
B Fortunately nobody is able to sing along
C So, perhaps there is still hope

D Too bad rap has such a bad name

Tekst 5 Blue-sky thinking

12

13

14

15

16

17

What becomes clear about Uganda Airlines in paragraph 1?
A It can be seen as a billboard for the nation.

B It needs to expand in order to become lucrative.

C It spares no costs in pampering its passengers.

D It will be of global importance in the near future.

‘It has also placed orders for two wide-body Airbus A330-800s’ (alinea 1)
In welke zin verderop in de tekst wordt duidelijk dat er in Afrika geen
praktische behoefte is aan nog meer vliegtuigen?

Citeer de eerste twee woorden van deze zin.

What is the main aim of paragraph 27?

A to add context to the development of Uganda Airlines

B to explain the necessity for creating a new Uganda Airlines
Cc to outline the competition that Uganda Airlines faces

D to question the commercial potential of Uganda Airlines

Which of the following summarises the point made about African national
airlines in paragraphs 3 and 47

A Their goal is to boost the image of local politicians.

B Their popularity guarantees their financial success.

C They are intended to stimulate general economic growth.

D They serve to impress and attract wealthy foreign visitors.

Which of the following is suggested in paragraph 5?

A In nearly all cases private airlines can offer cheaper flights than
national ones.

B National airlines tend to be run by corrupt civil servants with negative
effects.

¢ The more affluent part of the population finds having a national airline
very appealing.

‘The gleaming ranks of planes on the tarmac in Addis Ababa’ (alinea 7)
Welke twee verklaringen voor het succes van Ethiopian Airlines worden
genoemd in alinea 67?

Geef antwoord in het Nederlands.



